INSTALLATION
ANCHOR, TYP.,
QTY PER JOB
REQUIREMENTS

49" MAX. ON CENTER,

—

"

, 000!000

— __ __ __|_5§L

463" MAX. D.L.O.
WIDTH, TYP.

L I
1

| |

———|

H-—48" GLASS WIDTH, TYP.——”

-
I = 3
| | & =
\\ . @ N
n S [T TN
o
H [
I = =
| I & 8
[+ 0] M
H T3
| |
n |
M [~ [ ,

87" MAX. FRAME HEIGHT AT JAMB MULL

STANDARD MULLION TYP. ELEVATION

GENERAL NOTES:
1) THIS PRODUCT HAS BEEN ANALYZED IN ACCORDANCE WITH UFC 4-—010—01 OCT. 2013

AND ASTM F2248 BLAST RESISTANCE CRITERIA USING CALCULATION AND SBEDS SOFTWARE,

AND HAS BEEN FOUND TO COMPLY WITH 148 STANDOFF CHARGE WEIGHT I, AND 82’
STANDOFF CHARGE WEIGHT II, IN THE CONFIGURATIONS SHOWN HEREIN.
INFORMATIONAL AND NOT INTENDED FOR COMPLIANCE SUBMITTAL. EACH PROJECT MUST
BE ANALYZED SEPARATELY FOR COMPLIANCE BASED ON PROJECT—SPECIFIC CHARGES,
STANDOFFS, PRODUCT SIZES, AND SUBSTRATES, WITH SHOP DRAWINGS PREPARED FOR
EACH PROJECT.

2) FRAMING MAY BE THERMALLY BROKEN OR NON—-BROKEN

3) MAX. HEIGHT OF 10" IS FOR HEAVY DUTY MULLIONS. MAX. MULLION HEIGHT FOR
STANDARD MULL IS 7" 3"

4) ANCHOR QUANTITIES SHOWN IN ELEVATIONS ARE FOR REFERENCE ONLY, ACTUAL
ANCHORAGE TO BE DETERMINED ACCORDING TO PROJECT SPECIFIC REQUIREMENTS

5) WET—GLAZE ONLY, DRY—GLAZED NOT QUALIFIED FOR BLAST. 9/16 LAMIANTED GLASS
STACK MAY NOT BE ACCEPTABLE FOR ALL PROJECTS OR MAY REQUIRE ALTERNATE
GASKET OR CAULK FILLET FOR COMPLIANCE

6) DOORS MUST BE TUBELITE MONUMENTAL IN 6070 MAX. SIZE.

7) OHCC TOP RAIL WITH SCREW—APPLIED STOPS (DET. 1/4) IS REQUIRED WITH TRANSOM.
STANDARD DOOR HEADER W/O TRANSOM AS IN DET. 2/4 (WITH SCREW—APPLIED STOPS)
IS ALLOWABLE WITH ADDITIONAL INSTALL ANCHORS THROUGH HEAD.

8) TYP. HORIZONTAL CONNECTIONS ARE AS SHOWN HEREIN; PROJECT SPECIFIC
CALCULATIONS MAY REQUIRE ALTERNATE FASTENING.

THIS DOCUMENT IS

TUBELITE
SERIES E/T34000
STOREFRONT SYSTEM
BLAST RESISTANT

. L
z =
=@ @ 35 75
2
s 0]
< f
0 5 N
EXT. ! 1 /4"
1/4” FULLY i
TEMPERED LAMINATED
CLASS GLASS (1/8” OR
3/16” +
ASSP’;E%F,{D .030/.060,/.090
INTERLAYER +
1/8" OR 3/16"
1-5/16” I.G. / /18%)

7/28/2015
TYP. GLAZING DETAIL

GLASS TO BE SPECIFIED
FOR EACH PROJECT

FL PE # 58201

CONSULTING, INC.
(COA # 29779)
1239 JABARA AVE.

LUCAS A. TURNER, P.E.

TURNER ENGINEERING &

NORTH PORT, FL 34288
PH. 941-380-1574

3
w
o
<
z
<
e
5
=
4
o
~
=
=

PH: 800.866.2227

LEADERS IN ECO-EFFICIENT STOREFRONT, FX: 616.301.0008
CURTAINWALL AND ENTRANCE SYSTEMS WEB SITE: WWW.TUBELITEINC.COM

=
=z

¢

&

4
=
-
—|(fh
L]
5

REVISION HISTORY:

DESCRIPTION
ORIGINAL RELFASE |

LT

Q [5.1315

REV| DATE [DRAWN

PATE:  05.13.15

DRAWING NUMBER:
E/T34000—-BLAST

DRAWN:

FINAL REVIEW:

SOALE: N.T.S.

REVISION: o

SHEET NAME:

GEN. NOTES
GLAZING DETALS,
ELEVATIONS

|SHEET: 1 OF 7 |




HEAVY DUTY MULLION TYP. ELEVATION

72" MAX. DOOR OPENING WIDTH

INSTALLATION ]
ANCHOR, TYP., \ TRANSOM 743" MAX. ON CENTER
QTY PER JOB -—49}" MAX. ON CENTER, TYP. o "
REQUIREMENTS ‘ “ & MAX O ZRA(\:I\é)SNOCM 71z GLASS WIDTH
15" MAX. 0.C. METAL | i
Il \000!000 000!000 ~ QU4 { {
] I s v oro. | I T T .  |[—o wax mansow oro. wom, me—— '
463" MAX. D.LO, 5 \rvp. ——70" MAX. TRANSOM D.L.O. WIDTH, TYP. — £
| N | WIDTH, TYP. I 4 | - 234k @ I gﬁ%
" 4
|[ N |[l—a48” cLASS WDTH, TYP. i| @ i ) AN r(?(')‘r'az(_:a!% o .3(_12
- - N l— d
[ s | | | —
2 | 1 ] | 3
o | I I Y., oy | u o
2 hoon | 1| | e 2 S
< | | 3 o I | | | = 8
& g | ] || = gy
= | I . | 32 <
g || INSTALLATION ANCHOR Il S g X | || || | || || 38 % %
2 I=J|'| PAIRS AT MIDPOINT S s © N | | ] | | o, W O
o L [lmnmas 2 (R i i Al
- : TUBELITE : z
E é || FRAME HEIGHT % Il = = | || Moré%%%TAL || | || || je & E
. Bl ¥ [ | - | S
Z 4 N 17 | ] | B
R N @ I N N = & 2
= | S, O Hh : ¥
D I S N i 0 y
| | | || || | || || I R
| I | | | |
| |
| | |

!
3" MAX.—»—I——

TUBELITE
SERIES E/T34000
STOREFRONT SYSTEM
BLAST RESISTANT

7/28/2015

LUCAS A. TURNER, P.E.

FL PE # 58201

TURNER ENGINEERING &
CONSULTING, INC.

(COA # 29779)

1239 JABARA AVE.
NORTH PORT, FL 34288
PH. 941-380-1574

3
w
o
<
z
<
e
5
=
4
o
~
=
=

PH: 800.866.2227

LEADERS IN ECO-EFFICIENT STOREFRONT, FX: 616.301.0008
CURTAINWALL AND ENTRANCE SYSTEMS WEB SITE: WWW.TUBELITEINC.COM

=
=z

¢

&

4
=
-
—|(fh
L]
5

REVISION HISTORY:

DESCRIPTION
ORIGINAL RELFASE |

LT

REV| DATE [DRAWN
Q [5.1315

PATE:  05.13.15

DRAWING NUMBER:
E/T34000—-BLAST

DRAWN:

FINAL REVIEW:

SCALE:

N.T.S.

REVISION: o

SHEET NAME:

TABLE
ELEVATION

| SHEET:

2 OF 7|




MIN. EDGE
DIST., SEE INSTALLATION
TABLE B ANCHOR, SEE
SUBSTRATE BY _—TABLE B,
OTHEfASéLEEE \ SEAL HEADS
INTERIOR AND W/ DOW 795
EXTERIOR -
BACKER ROD, X Zm
DOW 795 = 2y
INTERIOR AND SHCONE N oag
SEALANT AND N
EXTERIOR BACKER /)@ s Al | SHIMS BY 1 Y
ROD, DOW 795 L B OTHERS Zn
SILICONE SEALANT X W =
AND SHIMS BY = 55—.; 3
& m
OTHERS N 2=
INSTALLATION Zh
ANCHOR, SEE s
—
SEAL EADS SUBSTRATE BY V\\
TABLE B MIN. EDGE
DIST., SEE
TABLE B
TYPICAL HEAD/JAMB ANCHORAGE TYPICAL SILL ANCHORAGE
__1 MIN. EMBED.,_,
SEE TABLE B 1/2" MAX.
7 INSTALLATION ANCHOR,
INSTALLATION R - SEE TABLE B, SEAL
VN, EDGE DIST. TABLE B, o @ / HEADS W/ DOW 795
~— SEE TABLE B SUBSTRATE BY OTHERS, SEAL HEADS Sg
SEE TABLE B W/ DOW 795 8!5
INTERIOR AND Zh
EXTERIOR . e 16
INTERIOR AND BACKER ROD, < & l H—H
EXTERIOR DOW 795 : oJ
BACKER ROD, (\ SILICONE 'Q gg | ¥ —_—3\
DOW 795 SEALANT AND < @, —
SILICONE ] : >\<@( o S ERs Z0 /]
SEALANT AND —— | x 3&o = SUBSTRATE
SHIMS BY NE < =u [
s &4 BY OTHERS, I
OTHERS Ny E'E SEE TABLE B = LL
INSTALLATION - 4 ;m INTERIOR AND EXTERIOR
ANCHOR, SEE B Z0
TABLE B,—"] = BACKER ROD, DOW 795
SEAL HEADS SUBSTRATE BY N EXT.  SILICONE SEALANT AND
W/ DOW 795 OTHERS, SEE \\ SHIMS BY OTHERS
TABLE B MIN. EDGE
EXT. D}iE-'LESEE TYPICAL DOOR JAMB ANCHORAGE
TYPICAL DOOR HEAD ANCHORAGE TYPICAL SILL ANCHORAGE AT DOOR MULL ANCHORAGE NOTES:
1. SHIMS SHALL BE LOAD—BEARING (PLASTIC
OR METALLIC) AND CAPABLE OF
TRANSFERRING APPLIED LOADS FROM THE
TABLE B. QUALIFIED INSTALLATION ANCHOR INFORMATION PRODUCTS TO THE OPENING SUBSTRATES.
ID [SUBSTRATE ANCHOR MIN. MIN. EDGE é-A o SGHQEAETQEHTHA;‘SHP/F? SL,,OEQTS'%“ ;VEHTE\TEEEN 7/28/2015
EMBEDMENT | DISTANCE PRODUCT FRAME AND OPENING SUBSTRATE. LUCAFE é‘E T;Rg'g;éff'
A |SOLID UNCRACKED CONCRETE (3000 PSI MIN) 3/8" HILTI KWIK BOLT 3 CARBON OR STAINLESS STEEL 15/8" 212" 3. SPECIFIED EMBEDMENT TO BASE MATERIAL TURNER ENGINEERING &
m 0 : SHALL BE BEYOND WALL FINISH OR STUCCO.
B |SOLID UNCRACKED CONCRETE (4000 PSI MIN) 3/8" POWERS WEDGE BOLT CARBON STEEL 2 41/ . CONSULTING. INC
_ _ " 4. MINIMUM ANCHOR SPACING SHALL BE 2 ’ :
C |SOUTHERN PINE WOOD (G=0.55 MIN) 3/8" GRADE 5 LAG SCREW 3 2 5. ANCHORS THROUGH METAL SHALL BE OF (COA # 29779)
D [1/4"ALUM.6063-T5 MIN. OR 1/4" STEEL 36 KSIMIN.  [5/16-24 ELCO DRIL-FLEX OR HILTI KWIK-FLEX SEE NOTE 5 3/4" SUFFICIENT LENGTH TO PROVIDE THREAD 1239 JABARA AVE.

NOTE: INSTALL ONE FASTENER AT EACH LOCATION INDICATED BY | SYMBOL IN ELEVATIONS.

ENGAGEMENT THROUGH THE FULL METAL
WALL THICKNESS

NORTH PORT, FL 34288
PH. 941-380-1574

TUBELITE
SERIES E/T34000
STOREFRONT SYSTEM
BLAST RESISTANT

3
w
o
<
z
<
e
5
=
4
o
~
=
=

PH: 800.866.2227

LEADERS IN ECO-EFFICIENT STOREFRONT, FX: 616.301.0008
CURTAINWALL AND ENTRANCE SYSTEMS WEB SITE: WWW.TUBELITEINC.COM

=
=z

¢

&

4
=
-
—|(fh
L]
5

REVISION HISTORY:

DESCRIPTION
ORIGINAL RELFASE |

LT

REV| DATE [DRAWN

Q [5.1315

PATE:  05.13.15

DRAWING NUMBER:
E/T34000—-BLAST

DRAWN:

FINAL REVIEW:

SCALE:

N.T.S.

REVISION: O

SHEET NAME:

INSTALLATION
DETAILS, TABLE

| SHEET:

3 OF 7|




/6 DOOR ANCHOR CLIP
v LOCATE EACH END OF THRESHOLD

1239 JABARA AVE.
NORTH PORT, FL 34288
PH. 941-380-1574

4 PLCS
5" \ I THRU =
(@] —
) . 2 e Lo VERTICALS Sh 2
{] CLIP 5 w3I e
2 ” N M
] lo 2" FR EA END s M j(l—%
~ ” LIJ
5 - N AND 12" OC 2 EA CLIP g v o Ll % E
- /‘@ THRU < =
. LIJ
] VERTICALS & & ~ =LY
= = ~ T h O m
‘, ) \ Ly W)} ” o 7
5" prd
2" FR EA END 1E§ Eg‘g N 5"
AND 12”7 OC . S INT |
= O ! S = Sy 3
&  TUBELITE 2" FROM EA 4 PLCS §§ s
15 T MONUMENTAL END AND 12” OC @THRU ggamé
S 3 EA CLIP DOOR VERTICALS =2 83
= THRU /2 DOOR TOP RAIL : $s8a,
o VERTICALS NO TRANSOM %\? ------- ' :gggg
o CEE
5 L)
3 TUBELITE ‘ E) A ¢ S
2" FROM EA @ i HORIZONTAL
% pooR END AND 127 0C = K ‘\' T SEE DETAIL 5/5 =
DOOR =03 \q I a 4 PLCS L:)] :
=oESS S| || FOR ADDTIONAL ! T
/ 17\ DOOR TOP RAIL wsZ®d | || DETALS VERTS., e 3
v WITH TRANSOM { m 9] | f 6 PLCS ;i'
A 4] 1 ‘ 5 5 gg
(]
t =
iz N - =
— 1 + REVISION HISTORY:
{/\YJ 17~ o g i @
NOTE: \_EETE— NN z
APPLY DOW 795 TO ENDS OF EA END | 1 __5 7 ,L,, , ) N REQD @ S
HORIZONTAL EXTRUSIONS OF \ i i ! - DOOR JAMB  [&
BEFORE ASSEMBLY EA END OF THRESH. l\\\\\H{ . f ‘ n 4 ﬁ
HOROZONTAL ~ : \® S
@\\L\ | || ln | PN i ‘ﬂ ILL =
T Tt I A 2/ 2]
h T <_I
. 17 | . T[lt__ JH : 5/16" DIA EA END AND (1) LOCATED AT DOOR |&
- IR S @iz oo sta (8) (i simess L
@\ VERTICAL HEADS W/ (GLASS SIDE ONLY) =
1|l | I DOW 795 =1
'\ / EA END H\ I I &
oF | s ” R 05.13.15
TH R ESH . _— ] DRAWING NUMBER:
r—1 }. i R E /T34000-BLAST
@\| | f|\ Il ‘§\1' DRAWN:
ﬁ\| : ” H— 7/28/201 5 FINAL REVIEW:
WATER DAM EXT. L ol ﬂ\\ NS FL PE # 58201 RV 5
N S ; TURMEE EYHEERNS & oo
SECTION
(COA # 29779) SECTION

|SHEET: 4 OF 7|




6” FROM
EACH END

AND 1/4

FILLER RUNS
BETWEEN
ANCHORS.
CUT TO
LENGTH AS

REQ'D

&

3" FROM EA
END 38” OC

NS

25" DLO— ~DLO
FRAME WIDTH

JAMB MULLION

WITH JAMB ANCHORS

2" FROM EA
END AND 12" OC

2)5"

@ HD MULLION

2" FROM EA
END AND 127

EXT.

21/2 »

16

FRAME WIDTH

"q Q@

L N

TUBELITE MONUMENTAL DOOR

DLO

EXT.

@ HD DOOR MULLION @ DOOR

(SEE SEPARATE APPROVAL)

25"

HD DOOR JAMB @ DOOR
\5 /

@ HD DOOR MULLION @ TRANSOM

21/2:)

6” FROM
EACH END
AND 1/4
POINTS

66

—-—DLO

DLO—

@ STANDARD MULLION

HD DOOR JAMB @ TRANSOM
NG

7/28/2015

LUCAS A. TURNER, P.E.
FL PE # 58201
TURNER ENGINEERING &
CONSULTING, INC.
(COA # 29779)
1239 JABARA AVE.
NORTH PORT, FL 34288
PH. 941-380-1574

TUBELITE
SERIES E/T34000
STOREFRONT SYSTEM
BLAST RESISTANT

3
w
o
<
z
<
e
5
=
4
o
~
=
=

PH: 800.866.2227

LEADERS IN ECO-EFFICIENT STOREFRONT, FX: 616.301.0008
CURTAINWALL AND ENTRANCE SYSTEMS WEB SITE: WWW.TUBELITEINC.COM

=
=z

¢

&

4
=
-
—|(fh
L]
5

REVISION HISTORY:

DESCRIPTION
ORIGINAL RELFASE |

LT

Q [5.1315

REV| DATE [DRAWN

PATE:  05.13.15

DRAWING NUMBER:
E/T34000—-BLAST

DRAWN:

FINAL REVIEW:

SOALE: N.T.S.

REVISION: o

SHEET NAME:

SECTION
DETAILS

|SHEET: 5 OF 7|




5.000

0
0]
™
S

2.500

ITEM 5— E34361FB
HD VERTICAL

-——1.625—]

0.062

=),

ITEM 12—E34104
GLASS STOP SILL/HORIZONTAL

-1 —Z—S* —_— [—5 e
0.075 L 0.135
o . to}
o] (@]
N 3 = 0.125 3 0
S o o o Q N 9 2
5 5 5 o
I 5.257 | 4.985 5.000 5.000
ITEM 1—-E34259 ITEM 2—-E34143 ITEM 3—E34125 'VTEEFTTK‘;';LE;’:E':E)
SUB SILL INTERMEDIATE HORIZONTAL/SILL DOOR HEADER
' 2.500 | i
| =
T |'U n
N
M
o o
o
o ~
2 : C_I7 0] 1
o125 S > 0.075 2 [N
o 0.075 o N
< 0 ' 0.080
s 4.170 ur,
0.125 —H-—0.160 ITEM 9 (P3446 9” LG), ITEM 10 (P3445 4" LG) A | r"\>
0.160 (E34442) FILLER FOR STANDARD ANCHORING T
] [”— |1 .450— 1.625
ITEM 6—E34345FB ITEM 8—E34322FB
SHALLOW POCKET FILLER ITEM 7—-E34244 DEEP POCKET FILLER ITEM 11—-E34242
HEAVY DOOR JAMB DOOR JAMB FILLER
—t—0.435 —10.7424—
I_ 0.497 - 3.049 J
0.075- o . _1 | ——|o.684._
M (o] _— [+0]
N o o o N
)] n 3
! 0.060—f— o © © M —H=—0.093
- ~ E| 0 N 0.057 o
= A
: =t l e J !
N ITEM 16—E3522 1|
ITEM 13—E6510 ; GLASS STOP
ITEM 14—E6505 o ITEM 15—E3521
INNER DOOR STOP OUTER DOOR STOP GLASS STOP HORIZONTAL ITEM 37-P3498
SILL CLIP
——1.125——| |
:L_' _
o) o) | 4,700 3
o o n o
n o N
~ 1.750 ) o
o. |-1.ooo—| I— —l < P
1— — S \ I
S 1 2 H—(o) 9
o © @ 0.080 1 o
i 2 0.093 3 S 3 o T
0.125 N
ITEM 19—E6504 ITEM 20 — E2298
CHANNEL DO"OR STOP 4.985 ITEM 47-P4441 (E6657) ) AN i
ITEM 24—E34224 DOOR HEADER FRAME CLIP (1 1/2" LG) TEM 50 —

DOOR HEADER

REINFORCING STEEL

TUBELITE
SERIES E/T34000
STOREFRONT SYSTEM
BLAST RESISTANT

616.301.0008

3
w
o
<
z
<
e
5
=
4
o
~
=
=

PH: 800.866.2227

FX:

CURTAINWALL AND ENTRANCE SYSTEMS WEB SITE: WWW.TUBELITEINC.COM

LEADERS IN ECO-EFFICIENT STOREFRONT,

=
=z
s
&
2
4
=
=]
)]
=

REVISION HISTORY:

DESCRIPTION
ORIGINAL RELFASE |

——{0.684{—
L
< ¢
~
M0.057 0.075
‘ 2
ITEM 18—E6644
GLASS STOP
7/28/2015

LUCAS A. TURNER, P.E.
FL PE # 58201
TURNER ENGINEERING &
CONSULTING, INC.
(COA # 29779)
1239 JABARA AVE.
NORTH PORT, FL 34288
PH. 941-380-1574

LT

Q [5.1315

REV| DATE [DRAWN

PATE:  05.13.15

DRAWING NUMBER:
E/T34000—-BLAST

DRAWN:

FINAL REVIEW:
SOALE: N.T.S.
REVISION: 0
SHEET NAWE:

PART DRAWINGS

| SHEET:

6 OF 7|




BLAST STOREFRONT — BILL OF MATERIALS

HURRICANE STOREFRONT TEST SPECIMEN — BILL OF MATERIALS

ITEM PART NUMBER DESCRIPTION MATERIAL ITEM PART NUMBER DESCRIPTION MATERIAL

1 E34259 EXTRUSION ~ SUB SILL ALUMINUM-6063—T6 63 S206 SCREW ~ #0-24 x 1/2" P PH TYPE 23 ST P—PART—FASTENER

2 E34143 EXTRUSION ~ INTERMEDIATE HORIZONTAL /SILL ALUMINUM-6063—T6 64 S070 SCREW ~ #12-24 x 1/2” PHIL FLAT HD UC MS P—PART—FASTENER

3 E34125 EXTRUSION ~ DOOR HEADER ALUMINUM—-6063—T6 65 S205 SCREW ~ #12 X 2" HWH TYPE 23 SELF TAPPING (P4441 TO MULLION) | P—PART—FASTENER

4 E34441 EXTRUSION ~ VERTICAL/HEAD ALUMINUM—-6063—T6 66 S161 SCREW ~ #10—-24 x 1/2” PHIL FLAT HD UC MS P—PART—FASTENER

5 E34361FB EXTRUSION ~ HD VERTICAL FOR BLAST ALUMINUM—-6063—T6 67 S419 SCREW ~ #12—14 x 1 1/2" HWH SD #3PT (FRAME TO FRAME) | P—-PART—FASTENER

6 E34345FB EXTRUSION ~ SHALLOW POCKET FILLER FOR BLAST ALUMINUM—-6063—T6 68 S196 SCREW ~ #8 X 3/8" SELF TAPPING PAN HEAD (END DAM TO SUB SiLL) [ P—PART—FASTENER

7 E34244 EXTRUSION ~ HEAVY DOOR JAMB ALUMINUM—-6063—T6 69 BY OTHERS SCREW ~ #8 X 3/4” TEK SCREW (STEEL TO MULLION) [ P—PART—FASTENER

8 E34322FB EXTRUSION ~ DEEP POCKET FILLER FOR BLAST ALUMINUM-6063—T6 70 S270 SCREW ~ #10—24 X 3/4” SS PH (GLAss sTOP) [ P—PART—FASTENER

9 P3446 EXTRUSION ~ SNAP IN FILLER (E34442) ALUMINUM—-60863—T6 71 S174 SCREW ~ #8-32 X 1/2" FH (DOOR STOP) | P—PART—FASTENER
72 S293 SCREW ~ #10—24 X 3/B" SELF TAPPING P HD(DR ANCHOR CLIP TO DR) [ P—PART—FASTENER

10 P3445 EXTRUSION ~ SNAP IN FILLER (E34442) ALUMINUM-6063—T6 73 S070 SCREW ~ #12—-24 x 1/2" PHIL FH UC MS (THRESHOLD TO DR ANCHOR CLIP) [ P—PART—FASTENER

1 E£34242 EXTRUSION ~ DOOR JAMB FILLER ALUMINUM-6063—T6 74 BY OTHERS SILICONE SEALANT DOW 795 P—PART—SEALANT

12 E34104 EXTRUSION ~ GLAZING STOP ALUMINUM-6063—-T5 75 BY OTHERS SILICONE SEALANT DOW 995 P—PART—SEALANT

13 E£6510 EXTRUSION ~ INNER DOOR STOP ALUMINUM-6063—-T5 76 BY OTHERS #10 x 1 SELF TAPPING FW (STRAP ANCHOR TO HORIZONTAL) | P—PART—FASTENER

14 E6505 EXTRUSION ~ QUTTER DOOR STOP ALUMINUM-6063—T5 77 BY OTHERS SCREW ~ 5/16"—18 x 1 1/2" HEX HD MS SS W/FWS (FR. T0 STEEL Buck) | P—PART—FASTENER

15 E3521 EXTRUSION ~ SASH ALUMINUM—-6063—T5 78 S403 SCREW, 1/4-20 X 17 HWH TYPE 23 SELF—TAPPING (DOOR STOP) P—PART—FASTENER

16 E3522 EXTRUSION ~ GLASS STOP ALUMINUM—-6063—T5 79 S334 SCREW ~ #10—24 X 1/4” SS PH (SILL cUP TO siLL) [ P—-PART—FASTENER

18 E6644 EXTRUSION ~ GLASS STOP ALUMINUM-6063—T5

19 E6504 EXTRUSION ~ CHANNEL 17x1"x1/8" ALUMINUM—-6063—T5

20 E2298 EXTRUSION ~ DOOR STOP ALUMINUM-6063—T5

24 £34224 EXTRUSION ~ DOOR HEADER ALUMINUM—-6063—T6

32 P3443 PERIMETER CAULK BACKER — FLAT LEG SNAP IN FILLER P—PART—RIGID PVC

34 P6503 TOP LOAD WEDGE GASKET, GLASS, EPG P—PART—RUBBER

35 P6587 WET GLAZE GASKET, GLASS, EPG P—PART—RUBBER

37 P3498 34000 SILL CLIP E34250 P—PART ALUM-6063-T5

38 P6541 SETTING BLOCK 3/4 x 1 3/4 x 4" LG P—PART—RUBBER

39 P6296 BULB GASKET P—PART—PLASTIC /FAB

40 P3450 BULB GASKET @ THRESHOLD P—PART—PLASTIC /FAB

41 P6581 WATER DIVERTER P—PART-PVC

42 P1156 END DAM FOR SUB SILL E34259 P—PART—ALUM .040 SHT.

44 P3426 SILL ANCHOR BLOCK (E34260) P—PART—ALUM—6063—T5

45 P3497 DR. ANCHOR CLIP 2 1/2"x3 1/2"x 1/8", 15/16" LG (E1592) P—PART—ALUM—6063—T5

46 P503 FILLER P—PART—ALUM—6063—T5

47 P4441 EXTRUSION ~ DOOR HEADER FRAME CLIP (1 1/2" LG) P—PART—ALUM—6063—T5

50 P3437 11/8 X 41/8 X 8 GA STEEL CHANNEL 1008CQ HOT ROLLED

7/28/2015
LUCAS A. TURNER, P.E.
FL PE # 58201
TURNER ENGINEERING &
CONSULTING, INC.
(COA # 29779)
1239 JABARA AVE.
NORTH PORT, FL 34288
PH. 941-380-1574

TUBELITE
SERIES E/T34000
STOREFRONT SYSTEM
BLAST RESISTANT

3
w
o
<
z
<
e
5
=
4
o
~
=
=

PH: 800.866.2227

LEADERS IN ECO-EFFICIENT STOREFRONT, FX: 616.301.0008
CURTAINWALL AND ENTRANCE SYSTEMS WEB SITE: WWW.TUBELITEINC.COM

=

=z

s

&

2

4
=t
||
)]
=

REVISION HISTORY:

DESCRIPTION
ORIGINAL RELFASE |

LT

REV| DATE [DRAWN

Q [5.1315

PATE:  05.13.15

DRAWING NUMBER:
E/T34000—-BLAST

DRAWN:

FINAL REVIEW:

SOALE: N.T.S.

REVISION: o

SHEET NAME:

BILL OF
MATERIALS

|SHEET: 7 OF 7 |




	E__job stuff_Tubelite_Tubelite Blast 34000_E34000-Blast-7-28-15 Model (1).pdf (p.1)
	E__job stuff_Tubelite_Tubelite Blast 34000_E34000-Blast-7-28-15 Model (2).pdf (p.2)
	E__job stuff_Tubelite_Tubelite Blast 34000_E34000-Blast-7-28-15 Model (3).pdf (p.3)
	E__job stuff_Tubelite_Tubelite Blast 34000_E34000-Blast-7-28-15 Model (4).pdf (p.4)
	E__job stuff_Tubelite_Tubelite Blast 34000_E34000-Blast-7-28-15 Model (5).pdf (p.5)
	E__job stuff_Tubelite_Tubelite Blast 34000_E34000-Blast-7-28-15 Model (6).pdf (p.6)
	E__job stuff_Tubelite_Tubelite Blast 34000_E34000-Blast-7-28-15 Model (7).pdf (p.7)

